BapuaHT X, cM Lser k=1 k=2
(cymma Byx Y, CM | Yy, CM Y, CM | Y5, CM
TIOCIIETHAX
wup 3a49eTKH)
1 13,0 CHHUN 1,2 1,2 2,4 2,5
3eNeHbIi 1,4 1,3 2,7 2,6
KENTBIH 1,4 1,4 2,8 2,9
2 15,0 CHHUI 1,4 1,5 2,7 2,8
3eNeHbIi 1,5 1,5 2,9 3,0
KENTBIH 1,7 1,6 3,2 3,4
3 17,0 CHHUI 1,5 1,6 3,0 3,1
3€JICHBIN 1,6 1,6 3,1 3,2
KENTBIH 1,7 1,8 3,5 3,6
4 19,0 CHHUI 1,7 1,8 3,6 3,6
3eJIeHbIit 1,8 1,9 3,6 3,7
KENTHIH 2,0 2,1 4,1 4,1
5 20,0 CHHUH 1,9 2,0 4,0 4,0
3€JIeHBIN 2,0 2,1 4.1 4.2
KENTHIH 2,1 2,1 4,3 4,2
6 22,0 CHHUH 2,1 2,2 4,2 4,3
3€JIeHBIN 2,3 2.4 4.5 4.6
JKEITHIH 2,4 2,5 4,8 4,9
7 13,0 CHHUH 1,2 1,2 2,4 2,5
3€JICHBIH 14 1,3 2,7 2,6
KENTBIH 1,4 1,4 2,8 2,9
8 15,0 CHHHIA 1,4 1,5 2,7 2,8
3eNeHbIit 1,5 1,5 2,9 3,0
HKENTBIH 1,7 1,6 3,2 3,4
9 17,0 CHHUI 1,5 1,6 3,0 3,1
3eJIeHbIit 1,6 1,6 3,1 3,2
JKEINTHIH 1,7 1,8 3,5 3,6




BapuaHT X, cM Lser k=1 k=2
(cymma 1Byx Vi, CM | Yy, CM Vi, CM | Yy, CM
TOCTIETHUX
ump 3aueTkn)
10 19,0 CHHMI 1,7 1,8 3,6 3,6
3eJIeHbIH 1,8 1,9 3,6 3,7
HKEITHIH 2,0 2,1 4,1 4,1
11 20,0 CUHUIA 1,9 2,0 4,0 4,0
3eIeHbIH 2,0 2,1 4,1 4,2
JKEITHIH 2,1 2,1 4,3 4,2
12 22,0 CHHUI 2,1 2,2 4,2 4,3
3eIeHbIH 2,3 2,4 4,5 4,6
JKEITHIH 2,4 2,5 4,8 4,9
13 13,0 CHHUI 1,2 1,2 2,4 2,5
3eJIeHbIH 1,4 1,3 2,7 2,6
KENTHIH 1,4 1,4 2,8 2,9
14 15,0 CHHMIT 1,4 1,5 2,7 2,8
3eNeHbIiH 1,5 1,5 2,9 3,0
KENTHIH 1,7 1,6 3,2 3,4
15 17,0 CHHUI 1,5 1,6 3,0 3,1
3€JIeHBIN 1,6 1,6 3,1 3,2
KENTHIH 1,7 1,8 3,5 3,6
16 19,0 CHHUI 1,7 1,8 3,6 3,6
3eNIEHbIH 1,8 1,9 3,6 3,7
KENTHIH 2,0 2,1 4,1 4,1
17 20,0 CUHMI 1,9 2,0 4,0 4,0
3€JICHBIH 2,0 2,1 41 4,2
KENTHIH 2,1 2,1 4,3 4,2
18 22,0 CHHUH 2,1 2,2 4,2 4,3
3eNIEHBIH 2,3 2,4 4,5 4,6
KT 2,4 2,5 4,8 4,9




